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IR & foiT H@'&%Tllnstructions to the Candidates

1. 3M9% GaRT d9 3deed #H WEqd U 0 30-ogA ST & YR W Ao faf@d
afieT & AT AT fRar = §1 3fE o 99 A arad gidfte @r § a1 faee &
HFTER 3R Aegar A8 @ § ol Iae HEATRAT IEclhd S Sudf|

You have been called for the written test based on the online data furnished by you in the web application. If you have
wronaly entered in the web or you do not possess the required qualification as per our advertisement, your candidature

will be rejected.

2. o0 gl & et i 3ufefa 7 & g gla-Ra/Bleums I gEaRi =T diiev]
You should sign the hall ticket / photograph only in the presence of the Invigilator in the examination hall.

3. WRA-9F 60 e § bl YRA-GRETH F FT H &l
The Question paper is in the form of Question Booklet with 60 questions.

4. 9l & 3caRk &t & AT 3rerer MNTANR SeaR-gRedsr & S

A separate OMR answer sheet will be provided for answering the Questions.

5. FIW N i A Fied weA-gieasr Avll iz (W/Eg), NTANR IcR JREdH T

Rfese rarea W forgen anfEu|

Question booklet series code (A/B/CID/E) printed on the right hand top corner should be written in the OMR
answer sheet in the place provided.

P.T.O



10.

1.

14

13.

14.

15.

TReA-GIEcTsRT H 3T AH AT 3Hefshais Tgr forddl

Enter your Name and Roll Number correctly in the question booklet.

HTANR SecRk-gieaet # gt wfafear Afelsrel Tl & afe uge 9 4§ & & aeh
iigu|

All entries in the OMR answer sheet should be with blue/black ball point pen only.

9 o Puiia dvuar & mar R, @ 9ler 9R ScRi & @y aediess ¥ A
gell, = & Fad Ush 3Gy ®T & gl gl

The written test will be of objective type based on the qualification prescribed for the post with four answers indicated, of
which only one will be unambiguously correct.

3T, SecR-9Ras A QT oI el & AR, Ael/Hel TAET & il urse 99 4
INTAFR SecR-Gieaer F FART sifaer & 3ifFha axd TE 3ccR & T H:E B

You have to select the right answer by marking the correspending oval on the OMR answer sheet by blue/black ball
point pen as per the instructions given in the answer sheet.

T 92 & AU 3% 3o} ITad HAT SIW| Iad_3cail & fov A 31eh sl f&ar
Multiple answers for a question will be regarded as wrong answer. No negative mark will be given to wrong answers.
fofea alien gemiarel &le & 3iex Houex, Holhalel, HEEd Bl JUT 3T Foldelioih
ST, UISd-GEcieh, e 30fe oeY T Heafd ALl & Susfi|

Computers, calculators, mobile phones and other electronic gadgets, text books, notes etc., will not be allowed inside
the written test hall.

e O A L7 1 T G s WO 1 A A = 0 O 1 R O s
HUANR Seax-gieas Ples st 8 gur qud vfa srad g @)

On completion of the test, tear the OMR answer sheet along the perforation mark at the top and hand over the
original OMR answer sheet to the invigilator and retain the duplicate copy with you.

TeeA-QREehT AT T I T Fhd &

The question booklet can be retained by the candidate.

qdeT F TUH G F el AR adieT gl oiga & AT 6

Candidates are not permitted to leave the examination hall during the first hour of the examination.
mﬁﬁm&w@a@m@ﬁ-ﬁmé?ﬁvaﬁﬁamm
cicild

The written test is conducted only to shortlist/screen-in the candidates for interview.
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daaldge @t (Rex)/Technician B (Fitter)

ol T ?Jﬁf ....................... & 1/Unit of energy is

(a) dlc/Watt (b)  =gCa/Newton
(c) #ggod O HIEI/Newton per meter (d  Sel/Joule
&RT &1 qﬁ? — &1/Unit of current is

(a) dlec/Volt (b)  3ATA/Ohm

(c) UMIAR/Ampere (d)  Sfel/Joule

60°TR=TT &r *IH%‘IE H qﬁﬁﬁﬂ' &Y |/Convert 60° Celsius to Fahrenheit

() 100°F (b)  140°F

() 160°F ()  172°F

i R T A Fl/Kelvin is the unit of

(a) UGre/Power (b)  Fll/Energy

(¢) dI9HAT/Temperature (d) SAH TS 3T Adi/none of these

T, S YT @ gredl @ Jod Th BRI # SHAGA V s(s-a) (s-b) (s0) AT AT &, Ser v
.................... F S gl

Area of a triangle having sides a, b and ¢ is given by v s(s-a) (s-b) (s-c) where S is equal to

(a) atbtc (b) axbxc

(c) 1/3(atbtc) (d) 1/2 (at+btc)

& afaax Faw F1 cgAdH 3 7R £ 1/The least count of a Vernier caliper is
(a) 0.lmm : (b) 0.02Zmm

() 0.0lmm @  02mm

0.03 &I 0.8 & faanTad &Y 1/Divide 0.03 by 0.8

@) 0.266 (b)  3.75
(c) 0.0375 @ 038
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10.

11.

12.

13.

e B &g & v X % & 7 FATH G oo gl

The minimum distance from the rivet hole centre to the plate edge is

(@ 1.5d (b 3d () 2d (d 25d

.................. GaRT U & @l AUiRa fRar Srar B1/A serew is specified by

(2) O =ard/Pitch dia (b) T SUTH/minor dia

(c) FET TTH/major dia (d)  BAH UH AT FABi/none of these
qred 2x O ER Weh R bl 3 ..o &1/Volume of a cube of side 2x is
(@) 12x (b) 6x° ()  24x¥° d 8

Teh §FAT Sd8 BT FAIT ST covvvrrerervereernnens gl afeu|

The cutting teeth of a hacksaw blade should be

(@) FORIFd/hardened
(b) TEFIRA/tempered
(c) 3eiTellshc/annealed
(d) FONIhd TUT HEHRRcl/hardened and tempered

fieaseey IS HT BT ... & 1/The angle of BSW thread is

(a)  60° (b) 37° (c)  55° (d) 120°

fhel I STTHTS YOIl H T3T 38T oo, & G #1ar &

In ISI system of fits, capital letter indicates

(@) [&g/Hole (b)  Fe/shaft

©) &g ar docihole or shaft (d) S5 TH T AL none of these
4
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14.

15.

16.

17

18.

19.

16317 e T et # 20 A M o &l

Compared to 16 gauge sheet, 20 gauge sheet is

(a) Yddl/thinner (b) HIcT/thicker
(¢) HTS H THA/equal in thickness (d) 348 TH T A€T/none of these

.ﬂﬁamﬁqgwmmﬁaﬁﬂafﬁm ..................... gl

In gas welding, the gas mixture used is

(a) m\_ﬂﬂ-élgglaﬂfoxygen—hydrogen (b) 3TFETSTT-9a/ oxygen-propane
(c) HATFEISTT-UEIEe/oxygen-acetylene  (d) JTFEIST-HITAT AT/ oxygen-coal gas

o & Fi9-ar afFar & QT @ org anfEa 76 &

Which one of the following process does not require filler metal

(a) 3% dosa/Arc welding (b) gfaRIer desa/resistance welding
(c) T desd/gas welding (d) AN TH T FAel/none of these

frrafaf@a # Fia-8 wered v sRar gafts &

Which of the following material has maximum brittleness

(a) SR ST9Td/stainless steel (b)  TAAT Algl/cast iron
(c) ¥ FEUIC/ mild steel (d)  drEl/copper
9T T ITAT oo F T forar Srar g

A jig is used for

(a) 3UHIOT &F GRUT F fFE/T FeA/holding and guiding the tool

(b) FeAH HT URUT FA/holding the job

(c) FRI-GrEAT H 7MT R 3@/ setting the work piece on the machine

(d) $hcdh & HITH ATel/easy movement of the job

feor desa & AT I @ AT YT AT ST gl
For TIG welding, commonly used gas is
(a) UHICHH acetylene (b)  BIS3ITal/hydrogen
(c) 3MdA/argon (d) I gHall of these
5 1251FT



21.

22.

23.

24.

25.

WA T AT ATHITAT oo q a1 JATAT §1/File is generally made of

(a) UTHTH/MS (b)  TIHITH/HCS
(c) TIUHUH/HSS (d  WHB/CI

(a) SONAT d&Tel/increasing the hardness

(b) FHAE H quR &¥e1/Improving the strength

() UdEe & Aad Fet/Relieving the stress |

(d) FMAF-GHAT FFTA/to increase the machinability

550 & 16% wuveveeeeeennnn. F1/16% 0f 550 i ~ommmmmmmmme

(a) 98 (b) 68 © 88 d) 48
gerdl oig & HMAT T TIFT MATH oo gl

The coolant used for machining cast iron is................

(a) faeT Aa/soluble oil () fAE T AF/kerosene

(c) WIET STel/soap water (d) A TEH i Agi/none of these

I 126=1/38 o b T HeT AT §?
If 1/2b = 1/3. What is the value of b?

() 2.5 ) 2 ) 17 d 15

a@mﬁﬁam%w&ﬁﬁgwqﬁ%fﬁvaﬁfﬁa%ﬁwqm

...................... gl
The hole opening which is required for screwing conical or tapered necked screws is =-=------—cencm-
(a) 3T SR/ counter boring (b) FrEex AT/ counter sinking
(¢) To91 SfRFjig boring ‘ (d) Taer fZfecanig drilling
6
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26.

21.

28.

29.

30.

3.

(a) dTcTed/conduction (b W/convecﬁom

(c) faferIoT/radiation (@) fASEIEO/passivation

HIeT AT T qﬁ?’- ...................... - | R——— is the unit of relative density.

(a) gm/ce (b) m/s

(c) kg/em? (d) 3 Fs AT FEI /it has no unit
IS 962-1967 & 3TTHIR, 3TRWOT AME RN 8411149 mm BN TAT ..oovvnrinnnns gl

As per IS 962-1967, the designation of drawing sheet size 841x1149 mm is --------------

(a) A0 (b) Al () A2 (d A3
TF HAT oo ] R | T P —

(2) 4.564 elicliter (b)  4.724 e liter

(c) 4.546 el liter ' (@)  4.646 e/ liter

fu a1 FEere TSRO & AT o T e, gl

The value of ‘y’ for the given simultaneous equation is -------------------

5X+3Y =14

2X+7Y =23

(a) 29/87 (b) 52/87 () 8729 d)  52/92
30 Bl oo 2T F FUAT §1/30 degree is equal to —----nvezmmmen- radians
(@) n/3 (b) /6 © 2 d) /4

7 1251FT



32

33.

34,

35.

36.

37.

Ruaw frd 3Rt s v IR Ra g sear t Y s oy

For a given RPM, if the diameter of the drill increases cutting speed will

(a) d&3M/Increase (b)  TEIMN/decrease
) 3aRafdd BaM/remain same (d) 3AH TH 3 FA€i/none of these

T 3 oo F sla-ar amer FwoR R srar &/

In a drill jig, which part is hardened
(a) TSI S8/Jig body (b) SIS TE 2A/Body and bush

(¢)  /Bush (d) A7 TEH T Adi/none of these

Ife e &1 SATE 50700005 oy IR g T sIrg 50T ¥ oY e g e %
& &7 Fafes 3aua fader &2

Given the shaft diameter is 5070050035
clearance between the hole and the shaft?

+0.050/0.045

mm and hole diameter 50 mm what is the maximum

(a) 0.05 mm (b) 0.15 mm
{c) 0.015mm (d) 0.005 mm

U AT W3S & ar uredf & & gARd BT fhaer &

What is the included angle between two sides of a regular hexagon?
(@) 75° (b)y  120°

(c) 145° (d) SaH UEH 3 TE/ None of these

ﬁmﬁﬁ@aﬁaﬁa—maﬂ%mmﬁ%gm%v

Which among the following is the purest form of iron?

(a) dhzdl FﬂET/Pig iron (b) orar GIT&T/Cast iron
(¢) Tear &g/ Wrought iron (d)  SEAT/Steel
152 A Cal leﬁ'c." & 1/Poise is the unit of
(a) FI1/Energy (b)  2ITAAT/Viscosity
(¢) STd/Pressure (d) BaIH TH 3 Agi/none of these
8 1251FT



38.

39.

40.

41.

42.

43.

44.

TET FAT 82/Tolerance is

(a) Gt By aur =g=dd qve & &g A Headr
the difference between the maximum hole and minimum shaft

(b) 3ITHR & HalS U +gadd AABRT & ST f Beadr
the difference between maximum and minimum limits of size

) gsad B qur waifs dwe & & & e

the difference between the minimum hole and maximum shaft

(d) 3AH TH T A€i/none of the above

IMUR 3530 1 T FU18 h @ TFT AFH FT ATAT e gl
Volume of cone with base radius r and height h is

(a) nrh (b) 1/12nr’h (c)  43nrh (d)
T FTR HIET T oo Fgfas BT gl

One cubic meter is approximately cubic feet

(a) 254 (b 29.0 (c) 37.0 (d)

AR FARIUT H/In equilateral triangle

1/3nr*h

11.0

(a) 2 PIOT ST Eld /2 angles are equal  (b) 2 qred SRTE B £/2 sides are equal

(c) 3 HIUT SRIET Bl &/3 angles are equal  (d) T gar &7 &lAi/both (a) and (b)

T & FT cgeAdH 01 TR &1/ The least count of steel rule is

(a) 0.lmm (b) 0.5mm

() lmm (d) ST TH T FEi/none of these
T Ufsd 3 &1 fa—c'_," 11 & 1/Point angle of a twist drill is

@) 120° (b) 55° © 118 d 157

10mm &7 & 0 & AT - B & 39997 BFar Jrar g

Which drill is used for tapping 10mm tap?
(a) 9.5mm (b)  9mm (c) 8.5mm (d)

8mm

1251FT



45.

46.

47.

48.

49,

UdUHTH &7 in:'@q TP oo, & |/Main constituents of HSS are

(a) <ITEH, [Awel, HIFTA, @W’I’é’?/tungsten, nickel, chromium, stellite

(b) TIEeA, fAwd, Fodlse, Ch\IcITvC/tungsten, nickel, stellite, cobalt

(c) m, ﬁﬁw, @ﬁﬁ', aﬁ%?il?:l'/tungsten, chromium, silicon, vanadium
(d) 3BT TFH T FE/none of these

Ductility of a metal enables it

(2 Udel R & ST glel/to be drawn in to thin wire

(b) J&H effel &7 3TFR At be shaped into fine sheets

(c) FHH I T DI gih_sf[ H dIgi/to break into pieces with small force
(d) qulil ?-TI'CI I FITA/ to cut another metal

S D H IR TH M A Uk AT wsae A e ¥ deheR & odles
............ gl

A regular hexagon is to be cut from a sheet of diameter D. The width across corners is ~---s--wmoweev

(a) D (b) Dsin30 (c) D tan 30 (d Dcos30

golferady 3IR@oT RO & &I 45t & @y Ry fear smar ¢

In engineering drawing practice, ---------==-m=uz== are drawn inclined at 45°
(a) 9RTHE TWIT/section lines (b) I T IWIT/cutting plane lines
(c) IAR™H I@TU/dimension lines (d) s?nir TFH T Frfﬁ'/none of these

SI¥ 3R &1 3N Ad el F1 a1 gaRT UF oF Jecliar oF & T Sar ¥ ar 59
HIC HT HET PR ..ooovrrnnns gl

When a right circular cone is cut by a section plane inclined to the base, the true shape of the section is

(2) Jeci/eircular (b) ST elliptical
(c) 3TAdThR/rectangular T (d) I/ parabola

10 1251FT



50.

5l

52.

53.

54.

35,

TS &1 37127 &/LPG means

(a) ¢ 9R IA/low pressure gas
(b) &I 9@ G/low power gas

(c) oI 9ererdd 3T/ low petroleum gas
@ forfFawss dgifesT A/ liquified petroleum gas

Rdl 98T & VT & TFR B .o Fed %I/Type of thread in a pipe is called

(a) TeHUT UB/BSP thread (b) STESseY YS/BSW thread

(c) ARSF Ys/metric thread (d)  TFH US/acme thread

i e e Rl T e R S O fFIT ST & 1/Lathe bed is made of

(2) G FEUA/mild steel (b) AT Wlgl/cast iron

(c) fﬁ'ﬂ'{q g&ATcd/alloy steel (d) TSl SEATcH/carbon steel
ﬂmu@s—#ﬁ@w%mm#ﬁﬁwﬁqﬁmaﬁ .................. Fed &/
The process of making cup shaped components from sheet metal blank is called

(a) 3TRWUT/drawing (b)  YTShUT/spinning

(c) 3cHRUT/extrusion (d)  A/piercing

et &r anlé' & AGA %T:l)' HIF-T AT T gAT FAT FATAT §2/Which gauge is used to measure

the thickness of sheets

(a) TWhIeR 3ST/Feeler gauge (b)  TRET I1ST/Ring gauge
(c) T IST/Plug gauge (d) dRR ST/ Wire gauge
a5 931 FRSAT 7 AT FReA B s FT 9T FAr ST g
------------------ is used for making very large radius
(a) TIHTSIH/Divider (b)  HTeRcaliper
(c) CHWA/trammel @) AR /vernier
11 1251FT



56.

5.

58.

59.

60.

(a) &g & S & ATYeT/measurement of diameter of hole
(b) &% T IEUE F AA/measurement of depth of hole
(c) YUTS@eol g€/ hidden fastening

(d) N’{-‘iﬁ-?l’ H U&7 FTEi/none of the above

forel e @1 9 U FA-ar g, SEd FROT BET g 3@ g # sk a1 aee
foam ST |ewar &

The property of a metal by virtue of which the metal can be bent or stretched without failure is-----------

(a) FHBRAT/Hardness (b) S Rcl/brittleness

(¢) deIdl/ ductility (d) Hedl/toughness

TG T AT Tl H TTF e, JeITEY gl

Rubber i§ -~-=----vnneemm elastic than mild steel.

(a) 37T/ More (b)  FH/less

(c) SRIEX/ equal (d) 39dFT #A TH HT FTE None of the above

forelr ePIOT & UTRd 3:4:5 & HqATd H §1 IR HSH T GrRd 170mm § A 3= I areaf
DS sonspsmpnmmms gl

The sides of a triangle are in the ratio of 3:4:5. If the longest side is 170mm, the lengths of the other two
TR R ——,

(a) 102 mm & 136 mm (b) 202 mm & 236 mm
(¢) 221 mm & 142 mm (d) 112 mm & 122 mm

HAMS a8t & AT & v goar ag 1 39Aer fFar aan g, w=39ite
Cast iron is used to manufacture machine beds because------------—---

(a) TE& HARY &/itis heavy

(b) dI€ TEAT git is cheap

(c) aE ¥R §litis brittle

(d) 9% 3% gdigs s &1 gfAAT AT it resist more compressive load.

12 1251FT



